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小学生の「つまずき解消」完璧ドリル　１年生

けいさんをしましょう。
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                 　 点

６＋３＝

５＋１＝

４＋４＝

６－２＝

９－１＝

３＋９＝

８＋６＝

１３－４＝

１０－６＝

９＋８＝
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小学生の「つまずき解消」完璧ドリル　１年生

けいさんをしましょう。
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                 　 点

２８＋７＝

３４＋９＝

４２－９＝

３１－７＝

４６＋５＝

２９＋８＝

３６＋６＝

９１－６＝

８３－９＝

７２－６＝
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小学生の「つまずき解消」完璧ドリル　１年生

けいさんをしましょう。

1

2

3

4

5

6

8

7

9

10

                 　 点

５７＋８＝

５８＋３＝

４１－４＝

３２－７＝

５２－８＝

７５＋５＝

７７＋９＝

８６＋７＝

６３－４＝

８２－８＝
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小学生の「つまずき解消」完璧ドリル　１年生

けいさんをしましょう。
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                 　 点

９８＋４＝

５３－６＝

９６＋９＝

８１－５＝

９３－９＝

８６＋８＝

９８＋９＝

９４－７＝

７１－５＝

７９＋４＝
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